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�������� 	 ����� �  ��  �����	!���	� �	�����" �����##�� 	$ %���&	���'#�( 	 ���	)

�����'#�( $������� *�����#�
 $���� #�����
" %� ���� #� +��'�	( �������#	�( ��)

������ %����	!���	 #� �$�	����
����,�� -� #� �������#	�(" ����#	��( � ��$�����	

�������" 	����� ���' ��#.	�����	� ���� 	  ������#��" 	 �$�	����
���	� %����������

��� %���	��" %���#�	��'#��  #���	� �$�)

/	�� 0���

	����
���	� ���	�����'#� #� +��'�	( 	

1����#	(2 �������#	�(" !�� �������������

%�	��&�#	, 3�	�� 0��4� 5 ��$��'���� %����	)

!���	 ��� ��6����� ����� ��6��������' � �	)

�� ��#��#�	����##�( .�$ � &	���
 	 ������


3������( +����� #�����'��4� -� ����( ���)

����#	�( %���#�	��'#��  #���	� %���&	���')

#� 	 ���	��� *  �	� ���$�#� ����#	���'#�� %�)

����#���� %���#���	 ��#��#�	����##�( .�$

3#��&	�������'4� 7���	�� �$�	����
����,�

#� �+�$����'#� %�%��#�" #� +���� ���&#�� �$�	�#�� ��	�#	� #� �#���� ��!�����##�(

	$��#�#	
�

8��#	� (�������#�, %���#�	��'#�,  #���	, � �	#	���� ��	��
� ���	 �����,�� �

����
 #���������� #� %�	�� $� �� �	#" ��  #���	� ���� ��$������� #� � ���93�·����4·80

���� : ;� ���9� ≈ 320 <&9�� ���	 %�����&��' #������#	�" ���� ���	%	� %�	���#�

$� !��" ����� #� ����� %�	����� 0;� ��� ≈ 2000 <&" � #� �������� ε = 2 · 103 · 18/6 ·
1023 = 6 ·10−20 <&� *���'�� #��� $�����	�' ��� ������ ��&��
 �������� �� �����'#�


����� ��	 ��&���������#�� �������#		 d � 1=> ?	�� �$�	����
���	� +���� %������

ε/d ≈ 6 · 10−10 -� @��" ��#�!#�" ���	!	#� �����" #� �#	 	 %�	(������ #� ��������"
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���'�� ����
 �+B���� C�!#�� $#�!�#	� ��%���� 	�%���#	� ���� D0� ���9� +�	$�� �

#���
 ���#���

*���#	�  #���	, ε �  #���	�
 ��%������ ��	&�#	� kT � ��	 #�����'#�
 ���%���)

���� kT = 1,38 ·10−23 ·300 = 4 ·10−21 <& %�	���#� #� %������ ��#'�� ε� E�#�" !�� ���	

kT ���#�� ����#	�� � ε 	�	 +��'��" �� �������� #� ������ ��+	���'�� � ��#� �����F

��%����� ��	&�#	� %�	����� � ���%��� �����

* �����
 �����#�" ε ���&#� +��' ��#'�� (�������#�
  #���		 (	�	!����
 ���$	�

@�� ������� 	$ ����" !�� �������� %�	 �+��$���#		 &	�����	 	�	 �������� ����" �

�+6��" ��(��#�,� ���
 ������#	���� G	���� ���� ��� ���#� �����	�" � %���+����,6�


���%�#	" 	$ ������� H2I� 5���%�� &� � ����	#�#	�" �������� �+��#	��,��� ������	"

�� ���' %��	�(��	� +���� ���'�$#�� �$�	����
���	�� J	�	!����,  #���	, ��&#� ���)

#	�' 	$ ��%���� �����#	� ��%�	��� <�	�����' ������+	�� ���(����� �� � #� ��� ��"

	�	 %�	 �������	 ��� ��9! %�	+�	$	���'#� �"D �9� +�#$	#�� ��6#���' ��	������ ���)

�� ��� ����" 	�	 %�	���#� KD �5�" ���� ��&��
 ����� ���� ����� L� �<& ��+���" 	�	

KD�� �����	
� 5 �����		" ����� ��%�	��"  ����#�#�
 ������ �������� #������ �� MH2"

�!������� �	������� ��	 �+��$���#		 #�����'#�( %�������� MI2 	 H2I #� ��	 �����

��%�	�� %����+������ ��	 ����� �	�������" 	�	 #� ����� ��%�	�� ����� L �������

�	�������� /�+���" %���!����� #� � � ����	 ��%�	�� 	 ��	��	����" ��#'�� %�	���#�

�!������� * �����
 �����#�" %�� ��6#���', 	 ��+���
 ��	������ %�#	��,��� ��(�#	)

!���	� ���	!	#�" � � �����		 %��	$���	��� +��'�� � ����������		 � �%� �	���N %�	

�%� η = 1/4 %���!��� ���#�� ��%���� �����		 L� �<&9�" 	�	 KD�� ���9�� @�� ���	!	#�

��
���	���'#� %�������� ��%���� 	�%���#	� 3D�� ���9�4 +���� !�� #� %�������

C������ ���� ���� ���	!����� �� &	�����	 %� %���#���	� �� ���� .�$���
 %�)

��(�� ��&�� #	�	 ���+��� ��#'�	( $����� ��%��" #�%�	���" %�	 %�����#		 �'�� ;�

���9�� 5 �+6��" .�$���
 %���(�� ���+��� $������ �%������##�
 ��%���� L" #�$������


������� ��%����
�� ��	 �+���#�� #�%�����#		 %���(��� ����� &� ��%���� ��������)

��� *���� 1�������2 �+�$#�!���" !�� ��%�� 	��� #� #� %�����#	� ���%�������" � #�

����� ������� 	 %���(�� 	( � �����, .�$�� @�� ��&#� $�%	���' � �	�� 1�����		2F

���3�◦*4 O ;� ���9� ⇒ ����3�◦*4"

����3��� ◦*4 O D0� ���9� ⇒ %��3���◦*4�

-�%�	���" ��%��������' �'�� ����� �"D ���93�·����4� ����' ����##	� ����� ���%���)

���� �#��� %��#����' �� −5 ◦* �� � ◦*" ���&��" $� ��	 !���� ���	 +� �#� %�����&���

%��#	���'�� � ��� &� ���%�" �� ����� +� %���&	���'#�
" 	 !���$ ��#���#	� ���' �#��

������� +�� 5 #��	( �����	�(  �� � ��	(	
#�� +�����	�� �����	 ���� ���+	#�
 %�)

����� ����� ����	 +� ��� $��#	�� -� ����� &� ���� %���� ����	&�#	� ���%�������

���#����	� .�$ ��%�� 	��� #� .�$���
 %���(��" � ���%������� #� ��#������ <�� ���)

%�����#	� �#��� #��� $�����	�' ;� ���9�" ����'�� &�" ����'�� #��� ��� #������ �'��

#� �A� ��������� P� ��#' ����� ���	!�����  #���		 #� #�+	������� �� ���� ���� ���'��

�L �� ������ � 	
���
�� �����
 �	��������	� �����
����� λ�



���� ������ �������� ��������� 0K

!���' �#���" � $� #�!' �# �%��' $����$���N � ��$��'���� ���#	� $�#	���� ����� �������

C�!#� ��� &� ���� ���%������� ���� � !�
#	�� %�����6����� %���� #������ �� ��� ◦*"

	#�!� ��#���##� ���� �+���	���' +� � %���

�������� � ������ ���%������� #�!	#�,� ��	���'�� +������" 	 �������' 	( ���)

#��	��� ���!�� C�%���� .�$����� %���(��� ���#'������ � ���%�������
� @�� #� ��&��

%�����&��'�� ����'�� ����#�F %�	 #�������
 ���%������� L �+���	��� � #��'� C����

1(����#��2 .�$� #� +���� ��6��������'� �����+#�� ��������	�  �	 ����#	� � �����,)

6�� %������.��

��+ ���%&� ,�$�%� � ��%��%�-��

<�� �%������##���	 ��$'��� %���(�� &	�����')%��� ����' #� %�� ���	�	 ����� �����

* %����(#���	 &	�����	 ������,� #�	+����  #���	!#�� ��������" %���������� %�)

��#�	��'#�
 +��'��� 5#�!��� ��$��( #� �����&	� ����#�( %����� �� ���� ���	!�����

&	�����	 +���� ���#'���'��F ��&� ����(����

*� �����#�� ���	!����� ������� ���� � ��$��(� ������� -�!#���� �+���#�
 %��)

����F 	$ ��$��(� �������� #�!#�� ��$���6��'�� � &	�����'� ���	 �+B�� %���6�#	�

#����	�" �� ���� (���	�" !��+� $�%��#	�' ��� %���� � ����
 %���#���'," !�� %�����)

�� 	�%���#	� 	 ��#��#���		 �$�	�#� ����#��������� 5��� �����!	������ 	$ ���������

�����#�" #� #� 	$ $������
 +�����	�

����� 	�%���,6	(�� ������� 3��93��2·���44 ���

/	�� 0���

��##�
 &	�����	 $��	�	� %����	!���	 ���'�� �� ���)

%�������F jL = jL(T )� 35#��#�� �����#	� ��&�� ��	��'

���'�� � ��� ��(�" !�� �&	���� &	�����' 	 	$��#��� %�)

��#�	��'#�,  #���	," �� ���' �!�#' ���+�4� ����� ��$)

���6�,6	(�� 	$ ��$���
 .�$� ������� jG $��	�	� �6�

	 �� �����#	� %��� #�� %����(#���', &	�����	� ���	

��&��� �������� %�	�	%���" �� jG �  �� %�%����� !	���

������ � ���#�� 	 %������ nvT /6 ∝ n
√

T � ����#���' n

���+#�� ����$	�' !���$ �����#	� 	 ���%�������" n ∝ P/T " ��� !�� jG = jG(P, T )� ���	

������#���' %�	�	%�#	� ��#'�� ��	#	��" �#� ���&� ��&�� $��	���' �� ���%�������

	 3�����'#� ���+�4 �� �����#	�" 	 jG �������� .�#��	�
 P, T �

5 ���#����		 jL(T ) = jG(P, T )" !�� $����� ���$' ��&�� �����#	�� 	 ���%�������
�

-�%�	���" %�	 ��	#	!#�
 ������#���	 %�	�	%�#	� 	 � %�	+�	&�#		 jG = nvT /6 =

(P/6kT ) · √3kT/m  �� ���$' ������	� ���F

P = 6
√

mkT/3 · jL(T )

��� �,+�
 $��	�	����	 jL(T )� ������'�� �+� .�$� � ���#����		 #�(������ ��#� %�	

��#�� �����#		" ��� ���������#	� .�$���( %���(���� ���+#� P − T �	������� 3�	��



0; ����� �� ��	
��
�����
� �������

0��4� -� ����
 �	������� %���!	��� �	#	� � ��	��� .�$����� ���#����	��� C��'�� #�

 ��
 �	#		 .�$���� %���(��� ���#����#�� ���	 &� %�������� �����#�,��� �� ��	)

��
 ���#����	�" �� %���+������ �	+� 	�%���#	�" �	+� ��#��#���	�� ��� � ���#����		

#�$������� #���6�##��" � �	#	� ���#����	� .�$ �6� #�$������� �	#	�
 #���6�#	��

G	�����' 	�%������� %�	 �,+�
 ���%�������� -� %�	 #�������
 ���%������� ���)

��#	� #���6�##�( %���� ����	���� �����.��#���� C���� �����.��� #� ��&�� $����	�'

$������ %�$���" ���	 �# %���	���� G	�����' �&� ��&�� 	�%����'�� #� ���'�� � %�)

���(#���	" � ��&� �#���' ��+�� 5 #�
 ��$#	��,� +����� �����6	� 	 ��%����,6	� %�)

$��	 %���" ������� ��� &� $���#�,��� #����	� C���
 %������ #�$������� ���������

8# ����$�� +������ �+�!#��� 	�%���#	�� 5 �����'#�� �����.��� �+��#���##� %�!�	

#� ��	��� #� .�$���
 %���(��N ��&#� ���'�� %���	��'#�� �����#	� %������

��	��� ���#����	� &	�����	 	 %��� #� ��&�� %�����&��'�� ����( #�����#	!�##��

C�%����� ��	&�#	� %�	 �����	( ���%�������( ��$������ &	�����'" � %���#���' %���

������� �� ���� ��	��� $���#!	������ � #�������
 ����������� ������ 5  ��
 ��!��

�+��6����� � #��' ��%���� 	�%���#	� 	 �������� ��$#	�� ��&�� &	�����', 	 %�����

��	�	!���	� %�������� ����F P = 220 ���" T = 374 ◦* : A0K Q" ρ = 0,3 �9��3� 5

%�����( �����( �����,��� #� ��%�����' %�������� ���� 1%�����2 �	#		 ���#����	�"

��� ��� &	�����' �����	� ��%�� �� #������,6�
 %����(#���	 ����$�� ��!��" !�� ��$

3��#� ���� %����� ��
�	 $	��
 #� ��$��(" ������ � ���#��'�� � %����+'4� C�� ��� ���

�%� �����#� ������� ���%�������" �� %�	(��	��� ��$�����' � �����( �����	� �����#	�

∼ ��� ����

��������	� ��+� �	�	#�� � ��%��
 &	�����	 	 �� %����" $���#���
 %���#��� R�)

��� #�������' &	�����' %�	 %�����##�� �����#		" #�!	#�� � ��!�	 ����� ��	��
 ���)

#����	�� C���� �#�!��� �����#	� #���6�##�( %���� ��#'�� $���##���" 	 %��� #��

%���#�� #� +���� � �#��#�� �����#	� $���#	� ���' %�� � &	�����'� C��%������� &	�)

����	 ������" %��� #� ��
��� �� ���#����#�
 %�	 ��##�� �����#		� �����  ���� #�!#����

	�%���#	� � %����(#���	� ����	��� %����(#���' ��$����" �+B�� %��� +���� ��$������'"

������	��� %����#'" � ���%������� +���� %�����##�� -���#��" 	�%��	��� ��� &	�)

����'" 	 ���' ����	!�##�
 �+B�� $�%��#	��� %����� <���� �#��� #�!#�� ����	 ���%���)

����F %�� +���� #�������'��" ��� %���&�#� ��$�� -� �	�� 0�L 	$�+��&�,6�� ��!�� ���

+� 1$�����#��2 #� #�������� ����� #� ��	��
 ���#����	��

C�%��' +���� #�������' &	�����'" ��#������##� ����	!	��� �����#	�" !��+� %�)

���(#���' ��$���� #� ��$#	����� ��&#� #�����' &	�����'" �+�
�� ��	�	!����, ��!��"

� ���'�� %����%�##�" %�����&�� #�����" �#	$	�' �����#	� �� #�!��'#���� @�� �&� %�)

��!	��� ��$� 5 ��$��'���� �� 	�%��	� &	�����'" ��� 	 #� ��	��� ��$��
 ���#	�� .�$ �

�#� %���
��� � ��$ #�%�����#�� �+��$��� -�%�	���" %��#��� S%	��� #� 	���� %����()

#���	" �� ���' ���%������� 	 �����#	� %�	 �%���� 	$��#�,��� ���" !�� ��	�	!�����

��!�� �+(��	���� 5 #�������� ������ ��&�� ��$�� 	 &	�����', #�� %�	#�	%	��'#�


��$#	���

���	
���
� P = nkT � 
 n �
�
 �
	��� 	 ������
������  �� ������ ����� 
��!
��
�"������ #��	���������$ �
!����� 	�%�	�!���� !����� 
������	
�� ���
�� �
		�
���!
���� ��&��



��!� ��������� ���"�#���� $ ���%��%�� 0T

<�� .�$����� %���(��� ��&�� &	���
 	 ������
 .�$�
 	������ ���� ��	��� ���#�)

���	�� <�� ��	���F &	�����')��$ 	 &	�����' � ������� .�$� %�������,��� � #�������


������� ������ 5 #�
 ��#������##� ����6�����,� &	����" ������� 	 ��$��+��$#��

.�$�� C��
#�� ��!�� ����F P = 4,58 �� ������" T = 0,01 ◦*� U$  ��
 &� ��!�	 ��(��	�

��	��� ���#����	� ��$)������� .�$��

�����	!���	 ��� ��6����� 	��,� #�����'�� ������(

/	�� 0�L�

.�$" 	�	 �� �!��"#��" ���	!�,6	(�� �����#	�� ��	)

�����	!����
 ������	� ��&�� �������	 .�$��	 ��&�

+���,� %���(���� -�%�	���" �	#	� ���#����	� ����$)

���.	�F P = 20 + 20 · T " ��� �����#	� ����&�#� � �	��)

+���(" ���%������� � � ����!�( �� ��	���#� %�	 ���

�+��" 0��� � #�(��	��� ���
#�� ��!�� ����$)���.	�)

&	�����'� ����$ �  �� %���#�� .�$�" ����
!	��� %�	

�����	( �����#	�(� �� &	��� %�	 �����	�( ����
!	)

����	 ���.	��� C�� #� ��#�� ����$� %�%���,���" (��� 	 ������ 8#	" ������ ������"

���&#� %������	�'�� � ���.	�" #� %��� #� ��%��	� C��	� .�$� #�$���,� �������)

+	�'#��	� ����(�� ����$� � ���.	� %�	 �����.��#�� �����#		 ���#��	��� $����#��

#�!	#�� � ���� �" � %�	 ���� ���.	�	$��	� %��	�(��	� $� ����#���

����$ ��&#� �	#��$	�����' %�	 �����	( �����#	�( 	 ���%�������(� ���	 %����

�+��$���#	� ����$� �(���	�' ���" � $���� �+���	�' �����#	�" �� ���.	�	$��		 #� %��)

	$�
���� ��	���#� � �TA� �� ����$� %��	$����� � �%��	��'#�( %�����(� ��$�#�� #�
��)

#� �%���+� �$���#��� �	#��$�" %�	!�� #� ���'�� 	$ ���.	��" #� 	 %���� 	$ 1�	�#���2

�������� �$���!����� ��6������

*�
!�� 	$����#� �� ������( .�$ ���� 3�'��4� 5�� �#	" ����� �+�!#��� �'�� V�"

%���#�� &	���
 ���� � �+�����( ����6�������#	� 	 ���+	�'#� %�	 �����##� �����	(

�����#	�( 3��	#	�� � ������	 �+��4� C��	� �����	� ��$��&#� � #����( #�������(

���%#�( �%��#	��� %��#�� � �	��#����

<����'#� #��+�!#�
 �����	�� � %����#	
" 	��,6	
 %�	 �����.��#�� �����#		"

� 	#������� ���%������ ��#�� A�� ��������" A ������( ���	.	���	
� ��	 %���(���(

��&�� #	�	 ��#����� �+B��" 	#���� �����'#� ��$��� -� ��##	(  ��%�( ����#��� %��)

����  �� $�����#��� %���!�#	� %����#	�F %�	 ����	��#		 ��%��	�' �	��	�

��. ���%����� ���'�/���� 0 ���#$�#-�

-� P−V �	������� .�$���
 %���(�� ������	� ��&� %��!	���'#�� ��	 	$�����	!�����

�&��		 %��� �#�!��� �����#	� ������ %� �	%��+���" ��� � ��$� 3�	�� 0�04�

����� �#� �������� �� �����#	� #���6�##��� %���" #�!#���� ��#��#���	�� 8+B��

�&	������ ����� %�	 %�����##�� �����#		" %�� $���#����� � &	�����'� -�  ��� �!���)

�� 	$������ ���%����� � 	$�+���
� ����� .�$���
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��$��� %�����#	� �����#	� � �&��	� &	�����	� ��	 +���� ������
 ���%������� #���

�&��' %�� �	�'#��" %� ���� %����
 	$��� 	$������ %�������	��� ������ W���
 	$���

%�����6����� �%���� 3��%����� ����	��#	� &	�����	4� 5 ��$��'���� #� P − V �	�)

������ ���������� ��%����+��$#�� �+����' ����6�������#	� &	���
 	 ������
 .�$�

5���	#� ��%��� � ���������"$ ����" Q� P���' (����� �	�#�" !��" ����� ������


��%���� 3 #���		4" .�$� ���	!�,��� �6� 	 �+B����	�

-� P − T �	������� �+����' ���#����	�

/	�� 0�0�

��������� ��� 	$����#�� �&� �	#	� ���#���)

�	�� ����	#�� #� P − V �	������� %�$����)

�� #�
�	 ����#�#	�  ��
 �	#		� 5�$'��� ���

+�	$�	� 	$������� C���� ��!�	 ��L0 �+��$�,�

%����	!���	 �	�� ���#�� /�+��� �	��� ���#�

ΔP · (VG − VL) = η · L = LΔT/T � ����!���

dP

dT
=

L

T (VG − VL)
.

@�� 	 ���' ����#�#	� ���%�
��#� � ����$	)

����

X��+#� ����������' ��	#	�� ����� ��6�)

����" #�%�	��� ������ C���� L � ����'#�� ��%���� %���(���" VG 	 VL � ����'#�� �+B�)

�� �+�	( .�$ 3�� ���' �+B�� ��	#	�� �����" 1/ρ4� P#�� L, T 	 ����'#�� �+B��� %�	

��##�
 ���%�������" ��&#� #�
�	 #����# �	#		 P (T )" �� ���' %������$��' �����#	�

���#����	� %�	 �����
 ���%�������� ������6���' �  �� ��!�� 	 %������� ���!��" ��&)

#� %�����	�' ��, ��	��,� 5 �+6�� ���!�� ������ (VG − VL) #��� ����	�' 	$��#�#	�

�+B��� %�	 .�$���� %���(��� ΔV �

-�%�	���" ��� %���(��� ����$)���.	� 3YZ[\]^_ � `a[bcZde4 VD = 1/3,5 ��39�" VGr =

1/2,3 ��39�" L = 435 ���9���' : 150 <&9� %���!	� dP/dT ≈ 20 ���9����" ���	 �$��'

f : D�� �� @�� ���%����� � %�	����##�� ���� #����#�� �� �+��9���� �� ��#�!#�"

��� ��!#��� ���!��� ��	��
 #��� �!	�����' 	$��#�#	� ��%���� %���(��� L 	 ����'#�(

�+B���� � ���%�������
�

5��� � ��#� 	$ #��#��	( ��6����" � ������( ������� .�$� 3���4 ���!� &	���
��

P����$�#	� �'�� %�	���	� � ��$���� ���+" +���� 	 %�� X���'#�
 �+B�� �'�� 1,1 ��39�"

dP/dT ≈ 80 ·4,2/(273 · (1,1−1) ·10−64 : 1,2 ·107 ��9���� : ��� ���9����� * %�����#	��

�����#	� ���%������� %�����#	� �'�� �#	&����� 3� 1#�����'#�(2 ��6���� ���&#�

%������'��4" %�� ���#	��� ���6	#�
 � �� %�	���#� #� ������� -� ���	 �����#	� #�

%������ #����#����#��" �� � ��!��( �%��� ���#	� ��&�� 	�%������' ����#�� ���#	�"

�%���+����,6�� ��� �����##��� ��!�#	,� C��	� &� ��#��#����		 �����#	� %�����,�

�����'�� #� ��#'��(F %�� ��#'��� �+��$����� &	���� %��#�� 3� ��#��#�� ��� &� ��

���#	�4�

�.%� �
	/���(�	� ��� �
�!����!
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���� &����'���(��# ���#� ��"��� ����  ����� D�

/�������	� �	#	, ���#����	� ���� � %��F dT = dP ·T (VG−VL)/L� P���' ��&#� %��)

#�+��!' �+B���� &	�����	" � VG = RT/μP � C���� %���!��� dT/T = (RT/μL) · dP/P ≈
0,08 · dP/P � ��	 $����#�� %���#		 �����#	� ≈ ��g #� ������ %������ �	������� ���)

%������� �	%�#	� ���#'�	��� %�	���#� #� L �� ��	 	$����#�
 L(T ) $��	�	����' 	#)

����	������� -� #�+��'�	( ���%������#�( 	#�������( ��&#� �!	���' L %�����##�
�

C���� P = P0 · exp((μL/R) · (1/T0 − 1/T ))�

*��!�� �+B��� %�	 .�$���� %���(��� %�	���	� � �����	#�� %�	 �	�'�" 	 ��%� ���'

�	%���$�" !�� $���������#	� ��$���,���" (��� +� !���	!#�" %��$��#��	 .�$����	

%���(����	 ��&�� �������	 .�$��	�

��� ��%��(��-��&/ -��/� ��'������&� �%�����

��&��� �������� � &	�����	 %�	���	������ � �����#	�� 5 �+B��� �	�� %�	��&�#	� �

��$#�( �����# � ����#�� ���%�#�	��,���� <����� ���� #� %����(#���	F ��� ��$��'�	)

��,6�� �	�� %�	��&�#	� #�%�����#� � ����#�� �#���'� ���	 %�	�����	�' ��#����#�


�+B�� &	�����	" �� %����(#���#�
 ���
 #�!#�� �&	���' �#����##,, !���' �+B���� 5

�+B��� %����	��� %���#���' 3%�!�	 #�$����#�4 	 ��$������ �����#	�� @��� %���%��

�����#	� +���� %���	����
�������' %�	��&�#	, � %����(#���#�� ����� C��	� �+��)

$��" ����	�#���� ��(�#	!����� ���#����	�� C�� #� ��#�� %����(#���#�
 ���
 ���	!�)

���� �� �����'#�
 �����  #�����	!���	� ���	 (�������#�� ���	!	#� 1����	��,6�
2

�	�� f " �� %����(#���#�� �������� +���� �+�����' 	$+�����  #���		 %������ fd" ���

d � ���6	#� %����(#���#��� ����� /�$��#� %�	#��' d ���#�
 ��&!���	!#��� ������)

�#	, � &	�����	 n−1/3 3	�	 ��$���� ��������" ������
 �� ��� 	 ���#	���	4� ���	

��#� �������� 	���� fd 1�	�#�
2  #���		" �� #� ��	#	�� %��6��	 %����(#���#���

���� %�	����� � n · n−1/3 · fd = n2/3 · fd 	$+���!#�
  #���		" � #� %��6��' S ��
���

� n2/3 · fd · S = σS�

5��	!	#� σ � ���
���� &	�����	 � #�$������� �� ..	�	�#��� %����(#���#��� #�)

��&�#	�� <�� ���#�	 σ ��%��#	�" !�� (�������#��  #���	� 	�%���#	� ε %������ 6·10−20

<&� *����� �����" ε � #�����'�� ��$" ���&�� � ����'" +��'��" !�� fd" ��� ��� ε �  ��

�$�	����
���	� �� ����	 �������	" � fd � ��+��� %�	���#� ��#��� #�����%�#�	����#)

#���� *!	��� n−1/3 ≈ 3 · 10−10 �" %���!	� σ ∼ 10−20/(9 · 10−20 ≈4 �"� <&9�2" 	�	 -9��

�� �%����!#	�� %����(#���#�� #���&�#	� ���� �"�K -9�" ����	 0,4 -9��

5��#���� � �����#	," ��$��##��� %����(#���#�� ������ -� � ��	#	�� %��6��	

��
������ �	�� n2/3 · f ≈ f/d2 ≈ n · fd = 3 · 1028 · 10−20 = 3 · 108 -9�2" 	�	 L���

���� C���
 ���	!	#� 	 +���� �#����##�� �����#	�" ������� ����#����	���� %�	��&�)

#	� %����(#���#��� ����� 5#����##�� �����#	� ���	��" !�� �6� ��$ �+B��#��� %��(�,

�&	�������' &	�����	F �#� 	 ��� %�����!#� �&���� -��� �����	�'" !�� ��� ������$�

	�	 %����� !�������" ���#������ %���� � ����"  �� �����#	� #� �%��#� 	 ��&� #�#�+�,)

������ *��
" ��#����	��,6	
 � %��'���" %������� �#����##�� �����#	�" ���#'��##��
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	$)$� %�	��&�#	� �������" %����	!���	 �� �����.��#����

/�������	� ���'#�, %��#��" #���#���, #� �����" %�	!�� ��#� 	$ �����# ����	

��	#�
 L %���	&#�� � ��� +� ������#�
 %����#'� ��	 �����&�#		 #� Δx %��6��'

%��#�	 ��$������� #� LΔx" ���+����� ��+��� ΔA = σLΔx� <��&#� ��6��������' �	��

ΔA/Δx = σL" ������6���� ���#'�	�' %��6��' %��#�	� *���������'#�" �!����� %��#)

�	 ��	#�
 L ��
������ #� %�	����,6	
 %������ 3��$��&#�" �� &� %��#��4 � �	��


F = σL" ������ �	�#�" %�!��� %�	����� ��$���#���' σ -9�� -� ����� ���� %����(#�)

���
 � ����� 1�	�	#���2 ���" 	 ��$��'��� #��� ����	�'�

������'�� %����(#���#�( ������ �+�!#� ��#'��" !�� �+B��#�(" %����(#���#��

����#	� ����� $����#�" ��� #	( #��� ��$�����' �����	�� -�%�	���" &	�����' ����	��)

���� � ��#�	� ��%	�����" %��#	����' #�� ����#�� %�����
 %����(#���	� 5�� ����+	��

ρgh · πr2 ���&�# ����#����	�'�� #���&�#	�� %��#�	 2πrσ" ������ h = 2σ/(ρgr)� ��)

����'�� �����#	� #� 	�(��#�� ����#� &	�����	 �����.��#��" ����(� �#� #	&�" %�� ��)

��� ��#	���� � #� ρgh = 2σ/r� @�� ����&�#	� �&� �����&	� ���'�� ���	�� ��	�	$#�

%��#�	" 	 ��� ��&#� %���!	�'" ���������� ���#����	� %��#�	F �	�� #���&�#	� 	����

��������,6�, � ��#���" ������� ����#����	������ ��$#���', �����#	
� X��#'��#	�

�����#	� %�� ���#���
 %����(#���', ��&#� �+B��#	�' ���" !�� #� %��+#�, !���	��

%��������� ����#'��� �	�� #���&� %� ����#�#	, � %����	� ���!���� ��������" #�)

(���6	��� ���� �������'#�
 %�������	" ��#�� ����(� ���	 &� %����(#���' ��%�����"

+���� �+���#�
  ..���" 	 �#���	 ��%�	 �����#	� %�����#��

<�� �	�	#��	!����
 %����(#���	 3#�%�	���" &	�����' ����	������ � $�$�� ��&��

����� %���������	4 %���%�� �����#	
 σ/r� 5 �+6�� ���!�� %����(#���' 	���� ��� ����)

#�( ���	��� ��	�	$#�" 	 ΔP = σ · (1/r1 +1/r2) 3.������ W�%����4� 5 ���'#�� %�$���

�����#	� ����	!�#� #� 4σ/r 3��� ��	#�����( ���	��� ��	�	$#� 	 ��� %����(#���	4�

P#��	 ���	���� ����� +��' 	 ��$#�� 3%����(#���' �	%� �����4�

����	���'#�� ��%	����#�� %��#��	� +���� %�	 ΔP = 1 ���" 	#�!� &	�����' ��$�)

������� <�� ����  �� ����+ �� �" %�	 �	������ ��%	����� 3 · 10−4 ��� <����'� +���,�

����$�� ����" !�� ���$����� #� ��	�#	� 	 ����	( ����#	
" #��+(��	��( ��� 	( %	��)

#	�" ����� %�	�	�	�#��� �������#	� ���� � ��%	������

��%�� ���� #� !	���� ������ ����������� ��� ��&#� �	��" � ��%�� ����	 �+��$���

���	�� h������" !�� ���� ���!	���� ������" � ����' � #��� 5 �+6�� ���!�� ����	���

������
 ���� θ � (�������	��	�� �$�	����
���	� ���( ����F &	�����	" %����&�	 	

�����.���� <�� ���� #� ������ θ ≈ 0" � ��� ����	 θ ≈ π� -�
����'#�� ���!	��#	�

+����" ����� θ = π/2� C���� ���+	#��	� #� ���� ��%	����#��� %��#��	� � ���+�� � %�)

���(#���#�� �	�� ���	$�#���'#�" ���	�� ��	�	$#� 3∞4 %�������� ���	�� ��%	������

-����!	��,6�� &	�����' 	���� �����#'" #��+����" #	&�" !�� %������ %����(#���'�

8��#	� (�������#�
 ��$��� ��%�	 ����	" %�	 ������� �#� �6� �������� ��#��)

�	��,� %����(#���#��  #���	� 4πσR2 	 %���#�	��'#�� � %��� ��&���	 ρgR · 4πR3/3�

��	 R = 3σ/ρg ≈ 3 ��  �	  #���		 ����#	��,���" !�� 	 %�(�&� #� %������ ����	�'#��



��)� ����� *��(�+� � ���,(��-��� �(�%,(%�� DL

+��� +� �	#	�	$	�����' ������#�,  #���	," #� %������ ��$��'���� #� 	$��#	����

<����#	� %��� #�� ��%����
 %����(#���', %��������� #� 32σ/r) · (ρ%���/ρ&	��)�

@�� %�%����� �����#	� ����+� %��� ��	#�
 � ��%	����#�� �%����#	�� ��&#� ���)

$��'" !�� � ��%����
 %����(#���	 �������� ���!� ������'� ��	 ��#��#���		 � !	)
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ΔP ∼ (2 · 0,07/10−9) · 1,3/1000 ≈ 1,8 · 105 ��" �� ���' %������ �����.���� <�� ��)

�	( ��%��' ��$��( �6� #�#���6�# %����	" 	 �#	 +���� 	�%����'��" ���	 ���!�
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�	� *��&��" %�	 �	���##�( ��$����( ΔP �%���� #� ��	 %������� 5#���	 ��&����
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��� �� �	���	" ��� �������!#� ���%#�( ��%��' 	�	 ������( !���	� ���' %����(#�)

��	 #����	��� 8�#��� %���&�#	� 	$��#����� � ���#'��#	�� ��$���� !���	�� /��' %�)

���(#���	 ��&#� ���#	�' ��� ��#��	���'#�, ���, β %����(#���#�( ������� 5�$'���

!���	�� � �	�� ��+�� ���	 ����' ��+�� %���6����� �� �������" �� ����� ������� ��3 :

����" � �#���	 #�(������ ;3 : D�� �������� 5  ��� ���!�� β ≈ 0,5" %�	���#� %����	#�

������� #�(��	��� #� %����(#���	� ��	 (�������#�
 ��� ������( ��6���� %���#���	

n ≈ 1023 ��−3 ����� !���	�� 	���� ��$��� ����� � #�#�������� <�� �.��	!����
 !�)

��	�� ���#�� 1%����#	!#���2 ��$���� ���� %����	!���	 ����, &� ���	!	#��
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����� ��#��#�	����##�
 .�$�" ��� ��$ 	 %��	�(��	� � �	�%�$�#� 100 ÷ 1000

������� 7���	��" ������6	� 	$ �������� ������" #�$���,� ���������	�� @�� &� #�$��)

#	� %�	��#�,� 	 � +��'�	� ���������" 	��,6	� ������ $���##�
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��!�" %�	!�� ��� ����� +���� #� %����(#���	" ��������##�
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�  �� !���	�� � ���+��	 ���
�����	� ������� 	$ ���	( ��'����	�%���#�( !���	� 	����

�����#�, ����'#�, %����(#���'" ������� ���	�#� %����6��� 3�+���+	����4 ��$�	!#��

��6������ @�� 	�%��'$����� ��� �!	���	 ��$�� 	 &	������
� ����� !���	�� 	��,�

$����#� ��#'��, ���%������� %�����#	� 3�� #	( ���!� �������' ����4� *��� %�#��	�

%�����#	� ��$�������� 	$)$� ��6�����##�
 ���	 .�������	
 3N−1/2 ≈ 1/30 %�	 N :

����4�

8�#� 	$ 	#�����#�( ���
��� ����(

/	�� 0�D�

!���	� � �%���+#���' � �+��$���#	, ���

#�$������( !�"��"()��* ���'��'��

��	 �����!� ���( !���	� �#	" �������'

���#'�	�' %����(#���#�,  #���	," +�)

��� ��	%��'��� G	��	� !���	�� �+��$�)

,� ��%�, +��'���� ��$����� -� �������

!���	�� %�	 ��	%�#		 ��(��#�� ���, 	#)

�	�	����'#���' 	" � ��#��#��" .�����

��	 �+B��	#�#		 �#��	( !���	� %���!�)

���� %������#����##�� ���������" ����)

��, ��&� #�$���,� ���������" ���'�� ��������# �# #� 	$ �����'#�( ������" � 	$ ���)

�	( !���	��

U�������  ��� %������" ����	��#��	� .	$	�	 C�5	���# 	
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W�*�#��� � �T;� �� 	$�+���	 ���%',���#�, �����' ����� ���������

����' � ��#��� ����	#�	 %�����	�	 $������!#�, !���	��� *����,6��

!���	�� �#��	��� � ���!�
#�� ����� #� %��	.��		 	 #�!	#��� ��	&�)
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������ %�	�	%��� 	 �+��$����� ������� 	$ ���( !���	�� P�%��������

����'� !���	��" %�	�	%��� � ��������" 	 ����

8��$�������" !�� � ����� %������� %���!����� #� ���%���#�� 	 ��&� #� %��	����

����" � %�	!���	��� ����	���� ��������� 3�	�� 0�A4� ��	 ���!�
#�� �+��$���#		 ��)

���%� ��&� #� ������
 %����(#���	 �������� (���	!���	 ��	&�6���� !���	�� � +��')
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 ������#���', ��%������ 	��##� $� �����%" !�� 	 %�	���	� � �+��$���#	, +�����

�����6	( �����
" ��&�� �������	 ����,��� %����� 1.	����2� �����' 5	���#� � *�#)

���� %���!	�� #�$��#	� Yj>" �� ���' �	..�$	�##� �	�	�	����##�
 �������		� C��	�

��������� #�+�,���	�' ���#� � � %�������( ����� 	$ ��������� C���
 &� �	� ��!�)

����##� 	���� ��$�	��,6���� ���������  �����	!������ %��+��" � ���&� ����	#�" ��$)

#	��,6��" ����� #���$��� &	�����' 3����4 �����#��� +���� ��$��, 3#�%�	���" #�.�'4

	$ %��	���
 ������ ��	 �#��#�� ��$�	!		 %�	����  �	( %�������� 	���� �+6�, !���'
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&	" ���	�	# 3*��4" � ���&� .��#��$��	� .	$	�	 �����+" /�R��� 	 /�G,�'�# �

�T;L �� %�����&	�	 �����' �������)�������#�
 �������		�� ���	 ��� %���	!#�� !���	)

�� %�	�������,� � �+B��� ��#������##� 	 ��	&���� ���!�
#�� �+��$��" 	$ #	( %�	

�����!� �+��$�,��� �#�!��� #�+��'�	� ��������" %���� 	 �#	 ����	#����" %��� #� %�)
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 �������� -�������� ����	� ��� .���	����#	� %���$�#� #� �	��
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��	 �+�	( �%���+�( �������		 %���!�,��� ��$��&�##��

/	�� 0�K�

���������" ������� � 1�%�������##��2 �	�� $�#	���	 +� ��)

��$�� ��#'�� ������ <�� �%	��#	�  �	( �������� ���+#� %�#�)

�	� ��$���#���	� ��������##� �!	���'" !�� ����#���� ��%' 	����

��$���#���' �� �� �����" �� ���' ���	!����� $��#'��" %��%���	)
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N ∼ RD .

P���' R 	���� ����� (�������#��� ��$���� ��������" � N � ��� ����� 	�	 ���	!�����

!���	� � #��� 8��$�������" !�� %���!�,6���� ��$���#���' D ��#'�� ��$���#���	 %��)

����#���� 	" ����� ���� � ���+#�� !	���k �������� 5	���#� � *�#���� 	��,� D = 1,68

#� %�������	 	 2,46 � ���(���#�� %������#����� �������)�������#�� �������	� ���� �

 �	( ���!��( ��$���#���	 1,44 	 1,78� P���' ��$���#���' ��#'��" ��� ��� %�	 �����!�

%�	���#� ��	#�����( ��������� ����#�� $�%��#�,��� %���l���� ������'�� %���!�,���
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%����(#���	� <�	#� L" 	$����##�� �����
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X1,2/a0,2" 	�	 a · (X/a)1,2" ��� X � �������#	�" 	$����##�� %� %����
 3�����	#��#��4�

-�%�	���" %�	 	$�+��&�##�� #� �	�� 0�; %���+��$���#		"

/	�� 0�;�

���	 ��� �#��� ��$ %�������' ��� ��&���� ����$��" ��$���)

#���' +���� ���#� D = ln(8)/ ln(4) = 1,5� ��&#� ���$��'" !��

����
 .������ � !��)�� ����� ������
 �	#		�

�#�&����� %�	���#�( �+B����� 3	 !������F ����	�" ���)

��#��#�� �	�����4 � #�������� �	�%�$�#� ��$����� �+#���)

&	��,� ���%�##�, $��	�	����' ���� &� �	��� 5 #��������

������ .������'#���	 � %�	���� +��'��" !�� ��������	� ��)

�	 ���#��'�� � ���������" �� .������'#�
 ���� %��	�(��	�
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�� �+��$����� %�	 �����	�( �+�	$	 ���#����	� .�$" #�%�	���"

���� ��%�	 	$ %���� -����#����#�� %������� � ������ %���	��" � ���#����#�� � 	�)

��,!�#	�� 8+  ��� %���$#� ��%��	#��'" ����� #� .���� �+����� 	�	 ���#� �����'���
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 �� 3�#2�/�&� 4�#5*����� ��,,#$��

U��� ��#�!#�� ��$����" �������� ���&#� �����	���'��� 8��#	� ����#,, ��	#� ���)

+��#��� %��+��� λ" �!	��� �������� �������	 �����	 ���	��� R� ������	� �	�	#��"

��' �������� � ��������	� ��#��� ��������" � ���	�� ����# 2R" ��	#� �	�	#��� �

	������ !	��� λ� ���	 �  ��� �	�	#�� %�%����� ��#�� �����
 ��������" %��	$�
���

�����#���#	�� *���#�� !	��� %�%���	( � �	�	#�� %������##	( ��#���� π · (2R)2λ · n

���&#� +��' %������ �" ������

λ =
1

4πR2n
=

1

nσ
.

5��	!	#� σ" ������� %������ �������� ��$���� ��������" #�$������� ��!�#	�� ��)

�����#	�� ��	 �!��� ��	&�#	� ����	( ������� λ ���#'������ �
√

2 ��$� -�� ������

�!	�����' ����
 �� ..	�	�#� %�	 #��	( ���#��(" ��� +���� !�� ����'#�� ��������

#� %�(�&	 #� ������� ����� 8�#��� ��� #	( ���&� 	���� ����� %�#��	� ��!�#	� 	"

$#�!	�" � �����)�� ������ � ��$������

<�� �	%	!#��� ��$���� R ≈ 10−8 �� 	 #�����'#�( �����	
 λ ≈ 1/(3 · 1019 · 10 ·
10−16) ≈ 3 · 10−5 ��� R�	&� � 	��	#� $#�!�#	� 1 · 10−5 ��" �� ���' #��� ����	!	�' σ

��$� � LF σ ≈ 3 · 10−15 ��2� 5 ��+�	�� %�	����#� 	$����##�� ��$��	#��	!���	� ���	���

������� 	 ��	#� %��+��� %�	 #�����'#�( �����	�(�

h�$ He >a H2 m2 I2 MI2 H2I

n" => �"�T �";L �"LA �";T �";� �"L� �"�K

λ · 105" �� �"K� �"AL �"�L �"D; �"A0 �"LT �"A�

�������� ����� %�������' ���, 	#�	�	����'#���' #� �������#	�( %������ λ� ������'

��	#� ���+��#��� %��+��� 	 %�$������ ��������	���' ��$ ��� �%���#�, �����" ���
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!��� (�������#�� ��$���� $���!	 ���&#� %�������' λ� 5���� ��&�� �����#���#	��	

λ/vT ≈ 3 · 10−10 ��

<�	#� %��+��� ������ � ���#'��#	�� %���#���	� ��	 P ≈ 10−5 ��� �#� ���#��

%������ � ��� 3��	���#� ���	� �����	� ���&#� +��' ��&�� ���#���	 �������4� ���	

λ ���#��	��� %������ (�������#��� ��$���� �+B���" �� �������" !�� %���!�# +"�''�

� �������� ����,� #�$��	�	��" �����	����' %� +��'��
 !���	 �� ���#���	 ������" #�

#� ���� � ������� 5 %���( � ��$�����	 %������ 10−5 �� ������ ����	������ �&� %�	

�����.��#�� �����#		� ��	 �	..�$	�##�� ��$����#		 	$���%�� #��+(��	��" !��+�

�������� #�$��	�	�� %�������	 �������	� � %��	���
 %����������F ���	 � %���( �#	

+���� �����	���'��" %���!���� %����� ����	 	�(��#��� �������� �� ���� ��$���� %��

���&#� +��' #� +���� λ�

��&$��$�#�� ����� �����&	� ����� � �����9��3" ��� !�� ��	#� %��+��� +���� %�)

����� 1015 ��" 	�	 1013 �� *������
 ��� ����# 3 · 107 · 3 · 108 ≈ 1016 �" �� ���' � ��!�	

$��#	� ��&$��$�#�( �������#	
 ����
 ��$ �  �� �%���#�� ������ 5 #�� ����� ���%��)

����#��'�� ���#�" ��$#	���' ����	 	 ��%� -� ��� ����	!������ �%%����� 	 ��&� ���

�+B����� � ��$�����	" ��� � $��$� 	 %��#��"  ��" ��#�!#�" �������

<�	&�#	� �������� � ��$��'���� �������#	
 +���� (���	!���	�� ������
��� ��)

���' 1%'�#��� ������2F ��&��
 �����,6	
 ��� 	���� %�����##�, ��	#� λ" #� ���)

!�
#�� #�%�����#	�� -� ���� N +1F ,N+1 = ,N +λ-N+1" ��� -N+1 � ��	#	!#�
 ������

#�%�����#	� ��##��� ����� E�#�" !�� � ����#�� 〈R〉 = 0" ��� ��� #�� ������##��� #�)

%�����#	�� -�  �� #� $#�!	�" !�� #�� ���+6� #	������ ���6�#	� 3����� &� %���&�#	�"

��� � ��%����
 �������', �������" ��&� � ����#�� #�����
4� P�%	��� ����#	
 �������

���6�#	�F

〈R2
N+1〉 = 〈R2

N〉 + λ2 + 2λ〈(,N-N+1)〉 .

������#�� ��������� %�	 �����#�#		 ���� #��' � �	�� #�$��	�	����	 3���!�
#���	4

#�%�����#	� -N+1� ����!��� 〈R2
N+1〉 = 〈R2

N〉 + λ2" ������

〈R2
N〉 = N · λ2 ,

� (�������#�� �����#	� �� 	�(��#�
 ��!�	 +���� λ · √N � U$ N ����� ���'��
√

N �����

� �����)��" $���#�� #�	$����#��" #�%�����#		� ��	 +��'��� N  �� ����� ���� ���(

����� 3����!� 	$ �	��	�#�4�

8��#	� ����� ���6�#	� �������� #� � ��� @�� ���+��� N ∼ 1 ��9λ ≈ 105 �����"

���	 ��	���'�� %� %����
" � #� ����� ���� �������  ���� !	���" ���� ��10 ������ 5����

#� ��� λ/vT ≈ 3·10−10 � " � ����� #��� ����� L �� <�� ���6�#	� #� ���� #�&#� +���� �&�

1014 �����" 	�	 3 · 104 � 3�� !����4� ��	 ���+��#�� %������ �������� %�#���+	���' +�

%�	���#� L ��� ��� � �� 	 L�� ��� ��� � �� C�������	� �������� � ���
#� $�%���##��

�	#	�N ��� +� � ���+�� ��$���� R = λ ·N ����#��� #	�' ��	#�
 λN2 � R� �#����	!#�

��	&���� +���#����	� !���	��" ������� �&� %����,��� #�+�,��#	,�



)�1� 
���� ���2�3���� "��2���� 
���%�� DT

<�	#� +���#�����
 ��������		 N2λ ��&�� +��' $�%	��#� 	 ��� λ · (R/λ)2" ������

�	�#�" !�� ��$���#���' ����
 �	#		 ���#� � ������ 1��������##�
2 ��	#	��� @�� ��&�

%�	��� .������'#��� �#�&�����" (��� $���' ��$���#���' ���$����' ����
� ��&�� +��'"

%� ���� ���%������#�#	� 	��	 .������'#���	 $����&����' %�	���#� #� ��� ����

C��	� ���#�	 �+B��#�,� ����#	���'#�, �����##���' %�������� �	..�$		 3���)

&��" ���%������#�#	� $�%�(��4� <����
 %��(�� �����	� � ���������#		 #� �����'#�(

�������" � ����( �������	���� /�������	� %���� ������� !���$ ���+��&����, ���)

#	�� � ��$�� *���� � �������#	� λ ����� �������� � ���	!����� j− = (1/6)n−v− !���$

��2 � ����#��� *%���� +���� %���� j+ = −(1/6)n+v+� 5 ��$��'���� ������#�
 %����

j = (1/6) · (n−v− − n+v+)� 5 ���#����		" ��$�������" %���� #�����
� ����' ��%��' ���)

#����	� #�����#�" 	 ��#��#����	� n � ��$� ��#������ C�%����� �������	 �!	���� ��	)

#������	 3���%������� %�����##�4� C����

j =
1

6
· vT (n− − n+) =

λvT

3
·
(

n− − n+

2λ

)
.

5 ���+��( ���	� %��	$���#�� ��#��#����		 �� $#���� �	#��� 8��#!����'#� %���!���

�	..�$	�##�
 %���� � �	��

j = −D · dn

dx
.

�#�&	���' D" � #���� ����	���%%���� %�	+�	&�#		 ���#�
 λvT /3" #�$������� ��)

 ..	�	�#��� �	..�$		� ��� ���	!	#� ��� ��$��(� ����� 1,5 · 10−5 �29� : 0,15 ?�29��

P����	�" !�� %�	 %�����##�
 ���%������� 	 %�����##�� n +���� ��#��'�� �����#	�"

!�� ����� ��$���� ��!�#	� ��$�� -��� �����' %�	��#	�� � ���%������#�#	, ����


%�	���	� U$��#�#	� �����#	� ����� ���%�#�	��,��� ��#��#�� ��$���

����� j �����	��� ������#��	�' ���#����	�" �# #�%�����# � �����#� ���#'��#	�

��#��#����		� 8��#	� ����� ���������#	� #���#����#���	 ��$���� R� U$+���!#��

!	��� ������� N %������ Δn ·R3" 	( %���� #���&� j ∼ DΔn/R" �������' ���#'��#	�

N %������ R2j ∼ DΔnR� C���� ����� t ∼ ΔnR3/DΔnR = R2/D� C����� ��$��'����

��&#� +��� &���' 	$ ��$���#���	 D � ��	#����##��� ��&#��� %��������� /������#	�"

#� ������� ���%������#	��� �	..�$	� $� ����� t" +���� %������
√

Dt� @�� �� &� $��	�	)

����'" ������, �� %���!��	 %�	 ���������#		 ���!�
#�( +��&��#	
� <�
���	���'#�"

��� R = 1 � %���!��� t ∼ 6 · 105 � � %�	���#� �� &�� ��&#� %���!	�' ���%���#	�"

� ��!#���', �� �� ..	�	�#�� %������ �" 	 1� +����(2� *�+����##�" ��$���� �������

	 ��	#� %��+��� %���!�,��� ��� ��$ 	$ 	$����#	
 �� ..	�	�#��� �	..�$		" � #�

%�����6�#	
 ��������

-��� ���$��'" !�� �	..�$	�##�� ����� R2/D ��� �������( ��$�����" #� ������

�&� � �6� +l��'�	(" #�%�����%���+#� ���	��� P���' #��� �!���' ��#����	,� *��&��"

� ���	���		 ������ ���' %����	 ��$��(� � (�������#��	 ��$�����	 L ≈ 30 �� 	 ���)

����', u ����� � �9�" ��$��##�� ������#	�� �����#���� @���� ������������� �� ..	)

�	�#� 1��#����	�#�
2 �	..�$		 Lu/3 ≈ 103 ��29�" �� ���' #� 0 %������ +��'��" !��
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. &�0�/��	

���������#�
� C���� #� � � %�	���' ���%������#	��� $� �� �" #� �� � � $� ���� �" !��

�&� %�(�&� #� ����'#���'� ����#������ #� ��������" � ����� �+B���� W	�	�	��,6�


����	�
 �������� %������	��#	� #� ����( ���%#�( ������+�(" ��	&�#	�� +��'�	(

�	(��
 � ��$����� %������ (�������#��� ��$���� �	������ ����	� &� ������+� ��$��)

�	��,��� � ��$��'���� #�����
!	����	 ��	&�#	� ���#	� ���%#�( ����� �6� +������

%�
��� %������	��#	�" ���	 ���' #�%�����##�� �	������	� ��$��(�� 5	�#�" !�� ���

��$���
 ����	 ��#� #��+(��	� %�%��#�
 ������

<	..�$	� ��$��&#� �� ���( ��6�����(" ��$ ���������� ���'�� ���" !�� �� ��&��

%��!	���' �� ..	�	�#� �	..�$		� 5 &	������( 	 ������( ����( ���6�#	� !���	�

$�����#�#�" 	 �� ..	�	�#�� �	..�$		 ����$�� ��#'��� -� #�$��	�	�� �� �� ..	)

�	�#�� �	..�$	� �  �� �����##�
 %������ � %�	#�	%��

1�+ 6�'��'��%�*��-�� � %�$"�-��

�������� %�	 ��	&�#		 %���#���� #� ���'�� ���	 ��+�" � �6� 	 ���	  #���	, 	 	�)

%��'�� �����  #���		 !���$ ��#����'#�, %����(#���' +����

q =
1

6
· (n−v−ε− − n+v+ε+) .

C�%��%���#�� %�	#��� ��������	���' �����'#� �� �	..�$		" �� ���' �!	������ n−v− =

n+v+� @#���	� �������� ε = skT/2� 5�(��	� q = (2λvT /6) · (snk/2) · (T− − T+)/(2λ)�

�#����	!#� $���!� �	..�$		" %���!��� ����#�#	� %����� ��%��F

q = −λvT

3
· snk

2
· dT

dx
= −κ · dT

dx
5�9�2 .

5��	!	#� κ #�$������� �� ..	�	�#��� ��%��%�����#���	� C�%�����  #���	� 	���" ���

	 %���&�#�" �� ����!��� ����� � (����#��� 3!�� �+��%�!	������ $#���� �	#��4� ���)

	$����#	� snk/2 �  �� ��%��������' #� ��	#	�� �+B���" 	�	 ρcV %�	 ����&�#		 !���$

�+�!#�, ��%��������'� <�� ��$��(� κ � D · (5/2) · 3 · 1025 · 1,38 · 10−23 = 1,6 · 10−2

5�93�·�4" %� �%����!#	�� 2,2 ·10−2� X �������� +��'�� � 7,5 ��$" � ���	� � � A ��$ 	$)$�

+��'��
 �������	 ��������

5�$'��� #������
 ���
 ��$� ���6	#�
 R� ����� ��%�� κdT/dx ∼ κΔT/R %�	���	�

� %���#	, ���%�������F κΔT/R ∼ ρcRΔT/t" ������

t ∼ (ρc/κ) · R2 = R2/χ , R =
√

χt .

5��	!	#� χ = κ/ρc #�$������� �� ..	�	�#��� ���%�������%�����#���	" 	�	 %�����

���%�������%�����#���'," 	 �%�������� �������' ���%������#�#	� ��%����( ��$��
)

���	
� �� �	�� .������ ���%���,� � �	..�$	�##��	" � $���#�
 D → χ� <�� ��$� 	 ��)

 ..	�	�#� ���%�������%�����#���	 +�	$�� � �� ..	�	�#�� �	..�$		 3� #���� %�	)

+�	&�#		 ��!#� ����#4� 5 &	������( 	 ������( ����( ��%�� ���%������#����� 3�	.)

.�#�	����4 +������" !�� ��6������ J����� %������� ��%�� �������" �	..�$		 %���)

�	!���	 #� %�����&�##��� <�� ����+��F κ = 418 5�93�·�4" cP = 25,49 <&93���'·�4"



)��� ��"��"����3���(- � � �,��(- A�

ρ = 10,5 �9��3" μ = 108 �9���' χ = 1,6 ��29�� ���	 ����+��#�, ��&�� �%���	�' � ��)

��!	
 !�
" ���&��' $� #�� � � �� �� %����(#���	" �� %�	���#� !���$ � � ���#�� ����!��

-���#��" ��������	� %���#�� 	�%��'��� ����' ��$ 	���� ���	$�#���'#�, �������'

��!�#	� ux" ��#�,6�,�� � $��	�	����	 �� %�%���!#�
 �����	#��� y� ��������" %�%�)

��,6	� �#	$� ����(" +���� %�	#��	�' � ��+�
 	�%��'� px− = mux−" �����������,6	


1#	&#�
2 �������	� *���(� &� ��������" %������,6	� !���$ ��	#	!#�, %��6����"

%�	#���� �����
 	�%��'� px+ = mux+� C���� 1#	&#	
2 ��$ %������� (nvT /6) · mu−" �

%�	�+����� (nvT /6) ·mu+ 	�%��'�� $� ����#��� P���' vT � ��%����� �������'" #� %����'

� u" �+�!#� ����$�� ��#'��
� *	��" ��
����,6�� #� ��	#	�� %��6��	" +����

τ =
λvT

3
· nm · u+ − u−

2λ
=

λvT

3
· nm · dux

dy
= η · dux

dy
.

/�$���#���' τ � ��� � �����#	�" #� #�%�����#	� � ����' %��6���	� *��	 � ��!�#		

1��#��2 ���� ������ �� ..	�	�#� �	#��	!����
 ��$����	 η ��&#� $�%	���' � �	��

η = ρ · ν" ��� ν � �� ..	�	�#� �	#����	!����
 ��$����	" ��� ��
 &� ��$���#���	 �29�

	 ��� ��$� %�	���#� ���#�
 �� ..	�	�#��� �	..�$		 	 ���%�������%�����#���	�

8%��')���	 ����� $������&	��#	� ��!�#	� +���� %������ R2/ν" �� ���' � ��$��(� �

#�����'�� !���� %�	 �������#	�(" #� ������( ��#����' �������'" %������ ������ /���')

#� ��!�#	� #� +���� ���	����" 	$)$� #�����
!	����	 ���	 %������	��,��� 	 $���(�#	�

+���� +������� �����+#��  �� ��������	� � �����,6	( ��$����(�


